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= 1,200
#FIHBHOI A 100,000 *»3H *43| 1,200
= 1,200
02 2=2ZHl 7,420 7,850 A 430
Oz&22= & HA 3,600
—CEAHE 2% MA3LS
200,000& 104 A% 12 2,400
= 2,400
— CEHARE B ¥g853 200,000 x63| 1,200
i 1,200
OEgiad & NsXtA 796,000& » 14! 796
= 796
OxXg |l 1,260 *50L* 128 »43| 3,024
= 3,024
03 A2 Z Hl 2,000 2,000 0
OEHARE A =X ,28 € Z208 &AM
2,000,000& » 14! 2,000
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= 5,670
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A OIS

HE: 2% )t X
el otsSEXSsA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
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301 LEHZ 118,560 117,150 1,410
= 118,560
01 MI2EZE 405z 100,000 115,150 A 15,150
O EEAEE O3 2208 X3
100,000, 000& * 14 100,000
= 100,000
09 HALAHIX RS 18,560 2,000 16,560
OEZAEE Z23 2 3|9 8 4% B4
= 2,000,000& =14 2,000
= 2,000
OEEAEE Ot 2HAH| 1,380,000& 12 16,560
= 16,560
405 TtabF S| 74,360 5,000 69,360
= 5,000
Al 69,360
01 AL EFH S 74,360 5,000 69,360
O4#olel 92E 98 HE Y T2 DS
A= P2 5,000,000 » 14! 5,000
= 5,000
OSEAEE DlUBHA 2l
69,360,000 = 1CH 69,360
e =X & 10,934,820 8,048,946 2,885,874
= 2,265,085
J| 3,802,729
< 1,825,472
Al 3,041,534
He=X & 5,941,051 5,213,944 727,107
= 2,265,085
J| 1,206,264
< 1,051,603
Al 1,418,099
=X X2 73,061 61,391 11,670
201 L2l 8,410 8,410 0
01 At 22l 8,410 8,410 0
Oget=&H| 790
— AW HSE=ZHH00 olgus Sl
= (L) 50,000& *33l 150
— YNBSS ANz BEHH= (L)
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~SHBEIZ BN 50N Za
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Oo=24d=+¢ 7,620
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70,000 x10H x43] 2,800
— 0. 08 ESXNGAHUAE sdFH+=H
70,000 *13H »23] 1,820
—dg8IdeEI 2A =L 250,000& =123l 3,000
202 Odl 3,000 3,900 A 900
01 = LHA YI 3,000 3,900 A 900
OCIEE goas 220/Hl
100,000& »2H x153] 3,000
301 LA F 12,901 12,901 0
09 SALAHIX A S 11,651 11,651 0
O0ls (e 23Xl A EsH Adl2d
10,000& »15H »23] 300
OCIEEHSe DYNS HAT SAY|
8,000& 100 #23| 1,600
OW&tH & Letsld NEAsE 551
—J& 130, 000& 22| 260
— =0t 80,000& »23| 160
— WSl 65,5003 *23] 131
OFgE dHBSF2 G A FIHA Al
10,0008 300 3,000
O&EE &l AL OHl 24
50,000& *50H 2,500
OWESEXIAE SAA s Ol
150,000 8 13| 1,200
OndgReledds s g2 dAL 4T A
i 50,000& x50H 2,500
12JIE243 1,250 1,250 0
2% 2REILE A= Al4 50,0002 «10L 500
OWE=X 33X Al& 50,000& x10H 500
OLHBES R AIY 50,0003 x5H 250
303 Z& = 250 0 250
01 243 250 0 250
OLHBE R2X 223 A& 50,0003 +5H 250
307 glz2tol & 48,500 36,180 12,320
11T MISRASEX 48,500 36,180 12,320
OLHdEEF2 JIEHAM 12,600,000& 12/ 12,600
Ogsst JHE USI(TGRSNEXNAHH)
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J| 104,500
< 31,350
Al 73,150
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J| 104,500
< 31,350
Al 73,150
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J| 75,650
< 22,695
Al 52,955
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J| 75,650
< 22,695
Al 52,955
10 AL SXAIEEE2EH EX 151,300 147,500 3,800
OSZA USINEXNEHEH 22
151,300,000& » 100 A& 161,300
J| 75,650
< 22,695
Al 52,955
AANERNJLE SML SEH 9,240 9,240 0
< 3,696
Al 5,544
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Al 5,544
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2,654,480
1,858,136
398,172
398,172

2,568,828

85,652

10 A SAAEHISSHIEX
2,

Ootolss XA 654,480,000& » 14!

=z N W

2,654,480
2,654,480

1,858,136
398,172
398,172

2,568,828

85,652

FHAADINSXE

= MW
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=) 432
Al 1,008
10 AL S XAIE E 2,880 2,880 0
OOI& =2 ZatA
2,880
J| 1,440
=) 432
Al 1,008
H4=2g 2HANE 29 39,966 26,160 13,806
=) 15,614
Al 24,352
301 LEtEH S 39,966 26,160 13,806
=) 15,614
Al 24,352
01 MEI2EZE+06l= 39,966 26,160 13,806
OO &=l 2Rl
0,240,000 =14 30,240
< 12,096
Al 18,144
O=Zamsl 05
(1) 6,000
< 2,400
Al 3,600
OO&=2 BRAAL 2HY FIINA (ML)
3,726,000& *1 3,726
=) 1,118
Al 2,608
gagds 2EXA 183,813 171,781 12,032
J| 91,907
=) 27,572
Al 64,334
307 21201 & 183,813 171,781 12,032
J| 91,907
& 27,572
Al 64,334
10 ALl S XAIE 8 183,813 171,781 12,032
osgags 24 183,813,000 *1 183,813
J| 91,907
< 27,572
Al 64,334
HEZ Ok DEX 2,880 3,202 A 322
J| 2,017
< 259
Al 604
307 gIztol & 2,880 3,202 A 322
J| 2,017
= 259
Al 604
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10 M3 SAANEEHESIGHEX 2,880 3,202 N 322
OJIEZHIIA RnENsEZ S
2,880,000& x 14! 2,880
J| 2,017
[ 259
Al 604
IR ZHTINA ESAE 29X 243,252 180,355 62,897
J| 181,842
= 18,422
Al 42,988
307 QI2t0| ™ 243,252 180,355 62,897
J| 181,842
= 18,422
Al 42,988
10 M SAANEEHESIGHEX 243,252 180,355 62,897
OJIEZHNNK ESAE &2
196,702,000 * 1A 196,702
J| 137,692
== 17,702
Al 41,308
OJIEZS0|Il A BESAIAE H 22X MHYI
18,550,000& * 14! 18,550
J| 18,550
OJJEZHIol A ESAIE EAXE2
20,000,000 =14 20,000
J| 20,000
OJEZHNNA ESAE s
8,000,000& » 14! 8,000
J| 5,600
== 720
Al 1,680
IHEALNT AL JISSY 13,500 13,500 0
J| 6,750
= 2,025
Al 4,725
402 QI2F X2 0| & 13,500 13,500 0
J| 6,750
= 2,025
Al 4,725
02 BIZIXIEAMNYEX(0IETHH) 13,500 13,500 0
OJJEZHIol A ESAE JsEL
13,500,000& * 14! 13,500
J| 6,750
[ 2,025
Al 4,725
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J| 5,985
= 770

Al 1,796
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J| 5,985
< 770
Al 1,796
10 ALl SXAIEEE2EH EX 8,551 9,300 AT49
OJEZHIai Xt A= 4l (29HA)
8,551,000 » 14! 8,551
J| 5,985
= 770
Al 1,796
IFEEZELINA XzslsZ208 XA 25,322 25,000 322
J| 17,725
< 2,279
Al 5,318
307 glz2tol & 25,322 25,000 322
J| 17,725
< 2,279
Al 5,318
10 AL SXAIEEE2EH EX 25,322 25,000 322
OJNE=HIoi it ANz=s=Z2 0
25,322,000 » 14! 25,322
J| 17,725
< 2,279
Al 5,318
OtsOHEtMXAA2Y 7,000 7,000 0
< 2,100
Al 4,900
307 glz2tol & 7,000 7,000 0
< 2,100
Al 4,900
10 AL SXAIEEE2EH EX 7,000 7,000 0
OOsSHLtHXGA 28 7,000,000 »14) 7,000
< 2,100
Al 4,900
428 dgs 292 158,046 144,516 13,530
J| 79,023
< 23,707
Al 55,316
307 glz2+ol & 158,046 144,516 13,530
J| 79,023
= 23,707
Al 55,316
10 ALSISXAIEEE2GHEX 158,046 144,516 13,530
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J| 79,023
< 23,707
Al 55,316
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Al 58,270
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J| 202,752
< 24,972
Al 58,270
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J| 202,752
S 24,972
Al 58,270
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J| 4,021
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Al 2,815
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< 1,206
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J| 4,021
S 1,206
Al 2,815
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< 912
Al 2,129
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J| 7,094
< 912
Al 2,129
10 AL SXNAIEEE2EHEX 10,135 9,150 985
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10, 135,000& 14 10,135
J| 7,094
< 912
Al 2,129
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Al 1,915
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Al 1,915
SOHOHIIOHAt RIRAIE 2 A2Ah 2H 160,715 156,830 3,885
J| 80,357
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J| 18,085
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J| 18,085
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& 9,025
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301 LEMZ 3,089,445 1,021,030 2,068,415
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J| 82,092
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< 10,261
Al 10,262
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Al 819,658
301 EEMZ 1,170,940 1,154,740 16,200
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Al 819,658
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= 96,584
Al 468,710
RUESAEXNHA 565,294 565,294 0
= 96,584
Al 468,710
307 QI2t0| & 565,294 565,294 0
= 96,584
Al 468,710
10 M SXAEHESIGHEX 565,294 565,294 0
ORXNEZTAIL 2SI (19H4)
328,667,000& * 14! 328,667
[ 49,300
Al 279,367
OStRE2EXAIAE SALAN S84
9,960,000& * 14! 9,960
= 3,984
Al 5,976
OBRQIESNALE SHXE Sl (204)
42,000,000 14! 42,000
= 12,600
Al 29,400
ORKNEXAIL SAK HHERI
30,000,000 =14 30,000
= 7,500




HE: 04 =X 5T
o9l RNESAL 29 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 22,500
OBIE2XNEF=XAE 2HBI(1HL)
154,667,000& 14 154,667
< 23,200
Al 131,467
23 K& At 558,230 472,480 85,750
J| 191,446
< 88,204
Al 278,580
Ch2st, 2=¢ =X & 558,230 472,480 85,750
J| 191,446
< 88,204
Al 278,580
ol=0id X& 153,629 119,757 33,872
< 30,769
Al 122,860
201 Let4d] 375 375 0
01 At 22l 375 375 0
Oget=gH| 375
—U23tE LA E AL &A=& 375
EZS(EdIHE) ME
50,000& » 141 x32 150
24 3,000& 259 x33| 225
202 O4dl 2,000 3,000 A 1,000
01 = LH 4 Hi 2,000 3,000 21,000
OU=3 dRFA 2204l
100,000& »2H x103] 2,000
301 LEXZ 16,600 16,500 100
< 3,330
Al 13,270
01 MEI2EZE+06l= 11,100 11,000 100
OZS0l2X =8HS HE X
11,100, 000& * 14! 11,100
= 3,330
Al 7,770
09 HALAHIX RS 5,150 5,150 0
OUEIaIIE lADIfS AL S A A
50,000& »13H 32 1,950
OC23ItE QAINM AL O Al
8,000& x200H 1,600
OC23ItE AUAIHM At HI
8,000& 100 *23| 1,600
12JEEd= 350 350 0
OtU=aINE 23X EF 50,000& 7 350
303 &3 350 350 0




M 08I S
Hu: 023 e A
Sl OH2d, o= =X B (S &2)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 Z& 3 350 350 0
OLIRSIIENE RS 32 BEF
50,0003 »7H 350
307 gl2tol & 134,304 99,532 34,772
< 27,439
Al 106,865
11T AISI S XASEE = 134,304 99,532 34,772
O0IF=HAE f& e=2X8EF =0l
1,200, 000& 14 1,200
O0lF=0d F=XE MY 18,000, 0002 14! 18,000
OURaIE Y2usSNEAL MM EE=
=4 50,0003 x 118 128 6,600
OUIsIE BRIESH S8 A
5,000,000 » 14! 5,000
OU=23ItE 3YE 10,000, 000& 14! 10,000
Ool=&du=s H-&28 XA
6,000,000 » 14! 6,000
O0t= I3 S8 U238 Olofln=
6,000,000& » 14! 6,000
< 1,800
Al 4,200
OUZSINEXNJEEH BSAX E8+E
90,0003 x11H«128 11,880
< 4,752
Al 7,128
OZS0l2X 2=20 4= 23
22,500,000& =14 22,500
= 6,750
Al 15,750
O0tl= HEold t2st0loina =249
14,400, 000& 14 14,400
< 4,320
Al 10,080
OZE0I2X M2E20 29
32,724,000 x 14! 32,724
< 9,817
Al 22,907
2o =X &5 1,706 1,706 0
201 £B-2dH| 1,706 1,706 0
01 At 22l 1,706 1,706 0
OLUZU=CUXANHLAAE 2 1,706
—=2d824 70,0003 x 11 +23] 1,540
-0 s 3,000& x118 %23 66
—EBZ2(EAHIIHS)H = 50,0003 *23| 100
AELs @ HUHME 5 YRUSAHHA TJ 180,114 134,684 45,430
| 90,057
< 27,017




A OIS

Hu: 023 e A
e 23, A= 28X &S& (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 63,040
307 2iz2to| A 180,114 134,684 45,430
J| 90,057
= 27,017
Al 63,040
10 MM SAANEEHESIGHEX 180,114 134,684 45,430
OUE3IIE U2WEAIE 180,114,000 «1A! 180,114
J| 90,057
& 27,017
Al 63,040
OlEH JIEsEd X4 28,325 26,850 1,475
J| 14,162
= 4,249
Al 9,914
307 QI2t0| ™ 28,325 26,850 1,475
J| 14,162
= 4,249
Al 9,914
10 A EXAEEHES2IGH EX 28,325 26,850 1,475
OUESIIE 0l sFXHXNSALY
28,325,000 x 14! 28,325
J| 14,162
o= 4,249
Al 9,914
Ctesiits e se 1 65,640 61,300 4,340
J| 32,820
= 9,846
Al 22,974
307 QI2t0| ™ 65,640 61,300 4,340
J| 32,820
&< 9,846
Al 22,974
10 A SXNANEEHESIHEX 65,640 61,300 4,340
OUESIE NE JdHEL XA
65,640,000 14! 65,640
J| 32,820
o= 9,846
Al 22,974
Z2E00UX SHAEANHA XS 27,509 26,760 749
J| 13,754
= 4,126
Al 9,629
307 QI2t0| ™ 27,509 26,760 749
J| 13,754
& 4,126
Al 9,629
10 A SXNANEEHESIGH EX 27,509 26,760 749




AN GEIEY
H: 23 e A
S9l: CH2s, =0 =X 53 CERED
SA - BB B () - MM - BES Ol &t o San HmEET
OZS0l2X SHAMHIA X
27,509,000 =14 27,509
J| 13,754
< 4,126
Al 9,629
st=0luns 2949 20,009 22,163 A2,154
J| 10,004
< 3,002
Al 7,003
307 glz2tol & 20,009 22,163 A2,154
J| 10,004
< 3,002
Al 7,003
10 AL SXAIEEE2EH EX 20,009 22,163 N2,154
Oost=20uns 249 20,009,000 =14l 20,009
J| 10,004
= 3,002
Al 7,003
CtE3otE At 2tel XI& 61,298 59,260 2,038
J| 30,649
< 9,195
Al 21,454
307 21201 A 61,298 59,260 2,038
J| 30,649
< 9,195
Al 21,454
10 ALSISXAIEEE2FHEX 61,298 59,260 2,038
OUI23ItE MBI T AL At (At 22l)
61,298,000 » 14! 61,298
J| 30,649
< 9,195
Al 21,454
NYAUSSIIESH(AAS &) 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
11T MISRASEEX 20,000 20,000 0
OMGALEZNESAH 20,000,000& =14 20,000
HE2LAZH(HLII=E) 87,036 87,036 0
Jl2d3dl(Hdot=1) 87,036 87,036 0
Jl2dul (-8 I=1) 87,036 87,036 0
201 L2l 35,796 35,796 0
01 At 22l 35,796 35,796 0
Oget=&H| 16,596
—JIZ2MNREFHI 100,000& »20H 2,000
— SAJ =& 500,000 *2CH 13 1,000
—=SAD EE Y 330,000 *2CH 43 2,640




A OIS

H: HHE2IAH(HAIHE)
Jl2dHI(H&I=1)

% 8 - 1
M- =S (3H) - NEAY - BaS e
—EAMD EH 7Y 150,000 +2CH *83l 2,400
— 2ANSsX 2 23,000 x158F A x12& 4,140
—dOoIdECIHEY 237,000 x3CH x63] 4,266
—JI23As8 3| 150,000& *13] 150
o=l 19,200
—HAIJIEL 2= E20AH]
8,000& *20¥ x103] x12& 19,200
202 04| 48,000 48,000
01 2Ll 48,000 48,000
OW&EI=EY LRFA 2L HI
20,000 x20H x 103 x12& 48,000
203 22 E X 4| 3,240 3,240
04 EASHEIRFAH| 3,240 3,240
OFNMSIERFEH| 300,000& x12& *90% 3,240




